
GoalsGoals

• Create a chart of the expected number of 

photoelectrons that the prototype should 

result in

• Problem-solve with the prototype and its 

various count issues
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Ne = number of photoelectrons

H = figure of merit

L = thickness of aerogel

β = velocity

n = index of refraction

ε = aerial fraction surface

M = reflectivity 
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# of PE QE = 13.2% QE = 22% QE = 40%ResultsResults
5 cm of aerogel

Epsilon of .14
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8 cm of aerogel

Epsilon of .14
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# of PE QE = 13.2% QE = 22% QE = 40%ResultsResults
10 cm of aerogel

Epsilon of .14
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# of PE QE = 13.2% QE = 22% QE = 40%ResultsResults
5 cm of aerogel

Epsilon of .8
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# of PE QE = 13.2% QE = 22% QE = 40%ResultsResults
8 cm of aerogel

Epsilon of .8



72.3

71.9

71.4

70.6

69.1

66.0

57.5

55.9

51.8

46.0

37.4

23.8

0.3

-45.7

-156.5

-555.0

9.5

9.5

9.4

9.3

9.1

8.7

7.6

7.4

6.8

6.1

4.9

3.1

0.0

-6.0

-20.7

-73.3

15.9

15.8

15.7

15.5

15.2

14.5

12.7

12.3

11.4

10.1

8.2

5.2

0.1

-10.1

-34.4

-122.1

28.9

28.8

28.6

28.2

27.6

26.4

23.0

22.4

20.7

18.4

15.0

9.5

0.1

-18.3

-62.6

-222.0

# of PE
QE = 13.2%

QE = 22% QE = 40%ResultsResults
10 cm of aerogel

Epsilon of .8


